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Math 3

DO NOW

Given m//n with transversals p and g, identify the relationship between the two indicated angie:
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Name
Math 3
What are the Parallel Line Theorems?

A

1 /4
s /6
#1-8: Using the figure at the right, p » b
find the measure of the angle if al/b: 8 /7
1) mLl =45, mib=1? 2) mL3 =65, mLo="
3 mZ3=35, mL3="7 4y mL4 =130, mL7 =7
5) ms1 =45, mL8=" 6) mL4=126, mL6="
N ms2=115 msLo="7 8) mLd =113, mLS5="

"

¥9-12: Using the figure al the right, find the value of x
and the indicated angle ifm//n:

9) mLA=13x-10, mL2=x+80, mL4=" 10 mLl=3x~-10, mL2=2x+40, mL3=7

1) m27 =5x-20, m&5=4x+57, md7=1 12) mZl=5x —40, md3=3x, mL2 ="




#13-18)If a /b, and lines q and & are cut by transversal ¢,
a) Identify the relationship between the angles b) Find x;
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Given ABHCD with transversal E“F"*,
1) What angles are congruent to £37

Use the figure to answer the following questions.

D If mLS5=2x+10 and ms4=35x-50
then find m.25

DI mLT=5x+20 and m£4=2x+80
then find m24

NHH ms5=4x+20 and ms3=x+50
then find m<8

SYIf mdl=5x+30 and m/8 = 2x + 60
then find mJZ7

O mld ms6=5:4
then find mZ3

I
73 If mL8= % w2
then find m.24



